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Challenges

Question 1.Select the related word/letters/numbers from the given alternatives:

&2 T fahedt & § Jafd rea/ s1eRl/den & gHgl
Line : Square :: Arc : ?

Xar: @t ?
Options:

1) Ring

Eropl

2) Sphere

Tieteh

3) Circle
kN
42 Ball

oTel
Correct Answer: Circle

kXl
Candidate Answer: Circle

A

Question 2.Select the related word/letters/numbers from the given alternatives:

A T frenedt # & Haf=are area/ srerl/@va &t gl

FJSP :DLQR :: GMIL : ?

Options:
1) EOGN

2) NIO
3) HOGN

4) IONG
Correct Answer: EOGN
Candidate Answer: EOGN

Question 3.Select the related word/letters/numbers from the given alternatives:

&2 T oot & § dafa rea/ S1eRl/gr & gHg)
21:3:574:?

Options:

1) 23

2) 82

3)97

4)113
Correct Answer: 82
Candidate Answer: 82

Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.

g 7 fepent & § T 2rea/91erRl/Te &t gl
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Options:
1) Tabla
q«er

2) Tanpura
AR

3) Sarod
Wi

4) Sitar
R

Correct Answer: Tabla
qser

Candidate Answer: Tabla
GESI

Question 5.

For the following questions
Find the odd word/letters/number from the given alternatives.

g 7 fepent & @ T=fFa ree/srerl/e & gy

Options:
1) CBED

2) JILK
3) TSVU

4) VZXY
Correct Answer: VZXY
Candidate Answer: VZXY

Question 6.

For the following questions
Find the odd word/letters/number from the given alternatives.

g 7 feneat & & T 2rea/s1erRi/Te &t gl

Options:
1) 132

2)176
3)279

4) 352
Correct Answer: 279
Candidate Answer: 279

Question 7.Arrange the following words as per order in the dictionary
frfeEa areal &t reaenier & i & IR gafed sifod

1. Sinister 2. Sinuous 3. Sinhalese 4.Sinusitis 5. Sinecure

Options:

1)5,3,2,4,1

2)5,2,4,3,1

3)52,1,3,4

4)5,3,1,2,4
Correct Answer: 5,3,1,2,4
Candidate Answer: 5,3,1,2, 4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._
& T 1R H Ue e g 81 Ry Y Renent 7 @ ag wel faeren gfg St srged At g a|

LMA, NOB, PQC, ?, STE

Options:

1) TUV

2) RSD

3) DOA

4) BRD
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Correct Answer: RSD
Candidate Answer: RSD

Question 9.A series is given, with one term missing.
Choose the correct alternative from the given ones that
will complete the series.

[ T 3rgehd H Ueh UG W & | T Y Aot A & ag Tgt
faehed AT STt 3TIchH hl ORI <

41, 43, 47, 53, ?
Options:
1) 59

2) 63
3) 61
4) 65

Correct Answer: 61
Candidate Answer: 61

Question 10.Pointing towards a boy Meera said 'He is the
son of the only son of my grandfather.' How is that boy
related to Meera?

Qeh TTSch <hl 3T 3RIRT ohid §Y HIRT A hgl, "Ig #R &1l & Schalld

O Rl G g 1" 39 TS ch <l HIRT § R—IT G- § ?




Options:

1) Cousin

TR/ T/ HERT/HIERT 4TS
2) Brother

NI

3) Uncle

EBIEI

4) Brother-in-law
SIToTT/¢aR/Sis /<18

Correct Answer: Brother

EIE]

Candidate Answer: Brother

Sl

Question 11.In a row of 15 children, when Raju was
shifted three places towards right, he became 8th from
the right end. What was his earlier position from the left
end of the row?

15 sr<di <ht Qep Ufh & ST 1] ol ¥ SlfgHT 37k i T
gRafdd forar Tar df ag gifg R @ 84 W= UR gt 1471 98 Uga!
Ufh o a1 AR I ehl=-T W U= A7 ?

Options:
1) 14

2) 12
3)6

4) 5



Correct Answer: 5
Candidate Answer: 5

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

ffeiiRad faenedl | & g 2Mec Y STt fAT 71T 21eg o HERT <l
TR ehich Aol ST SIT Yehd] &

PREDICAMENT
Options:
1) CEMENT

2) DEMENTIA
3) PREDICT

4) PRIMER
Correct Answer: PRIMER
Candidate Answer: PRIMER

Question 13.In a certain code, TEACHER' is written as
VGCEJGT. How is 'CHILDREN' written in that code?

fordt fafrse e # 'TEACHER' ot 'VGCEJGT' foiar ST at 39
%< H 'CHILDREN' oht b feizar g 2




Options:
1) EJKNEGTP

2) EJKNFTGP
3) EJNFITP

4) EJKNFTGH
Correct Answer: EJKNFTGP
Candidate Answer: EJKNFTGP

Question 14.If L denotes X', M denotes '+, P denotes '+
and Q denotes -, then

gfe L, 'x' ol Uefid wear g, M, '+ &t Uefid eedr g, P + hl
Tefd ear g, 3k Q, - ot Uil szar g, af

16P24M8Q6M2L3
Options:

1) 13/6

2)-1/6

3) 14

4)10

Correct Answer: 10
Candidate Answer: 10



Question 15.The missing number in the given series is:

& T3 Siget H T A1 hifo |
15(105) 14,13 (?) 12

Options:

1) 91

2) 78
3) 65
4) 68

Correct Answer: /8
Candidate Answer: 78

Question 16.Select the missing numbers from the given
alternatives

f&q g faeredl # @ o Ue A1d hifsid |

? 120 150

110 100 90

Options:
1) 60

2) 70
3) 80

4) 90
Correct Answer: 90



Candidate Answer: 90

Question 17.Prabhu travelled from his house a distance
of 20kms to his friend's house. After some time he left his
friends house and took a turn towards right and travelled
15 kms to reach a park. After resting for a while, he again
started and turned to right and travelled 18 kms to reach a
petrol bunk. From there he again turned right and covered
a distance of 15 kms. How many km more he has to
travel to reach home?

g9 3= TR ¥ 20 foh.HY. g 370+ A3 & @R Jeh 111 H gHY
d1E g MU+ A5 oh =R & el o qlfg-T R g 11 3R 15
foh.#t. 32 Yo T | Ugan| 98l §© o fasmd o, a8 fhe 3«
Tl 3R qIfg-T 3R e 18 foh. ol Teient Tap Ut T/ W)
UgdT| Igl & dg U alfg-T 3R Heehx 15 foh. Hl. g =retr mam| at
319 g fohd=t Toh. HI. 3R Tl Y 37U BR Ugd ST ?
Options:

1) 2 kms

2 fen. 1.

2) 18 kms
18 foh. =Y.

3) 21 kms
21 feh H.

4) 23 kms
23 fep.HY.

Correct Answer: 2 kms

2 fop. ot

Candidate Answer: 2 kms

2 feh 4.




Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Statements: Some flies are ants.

All insects are ants.

Conclusions: |. All flies are ants.

Il. Some ants are insects.

fFafead usr d o a1 <t a<hed S8 T4 g, [Si9eh 31T gt fAsepnl/
A=A, | 31R 1| fAehret 1 8| 31TUeh! faaR &heAr & foh a<hed 9
€ dTg g rHId: 1d a1 9 9= udid giar gt Smuent Aol
T ¢ foh o U ahen ° @ si=-a1 [RfYa U O gt R/
=T fAehTeT ST 9ehdT & ?

Y : -5 AfRgdl, difear gl

YA ; |- gt hie, difear 8|

fArsen: |- oY afraat, Afear g

fAseRl: 1I-gpe Hifear, shie 81

Options:

1) Only conclusion | follows
hael fAsrd | Tt 8l

2) Only conclusion Il follows
chael fsend || gl 1

3) Both conclusion | and conclusion Il follow

frseptf | ofik fAsert | @+t It &1

4) Neither conclusion | nor conclusion Il follows

9 fAshy | gl g 3R 7 fAseqdl |

Correct Answer: Only conclusion Il follows

chad A=y || 98t gl



Candidate Answer: Only conclusion Il follows

chad ARy || Tgt gl

Question 19.From the positions of a cube shown below,
which letter will be on the face opposite to face with 'A™?

feQ 1Y g9 <! fATTAt 9 <@ T Fd1] fh A I Theleh & dleh
ITHA Tholch UR hiH-9T 31&R g ?

A A D D
F B c El ] ¢ B B F

Options:
1)F

2) D
3)C
4)B

Correct Answer: D
Candidate Answer: D

Question 20.Which one of the following Venn diagrams
best illustrates the three classes

FAEfeRad ¥ O iF9-T1 39-31R@ 34 diF A0y o1 9ad 31t
avg R aearg ?

Rhombus, Quadrilaterals, Polygons
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Options:

@e @&3 @&3

Correct Answer:

Candidate Answer:
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Question 21.Which answer figure will complete the
pattern in the question figure?

hI--8Y ITR HTehid U 3Tepld oh UfdXY ohl GRT hfl ?
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Options:

1)

2)

4)

Correct Answer:;

Candidate Answer:
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Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

&Y T3 IR STpidal & H IR SMpId bl AT FTH U= repfa
fedt 81

gn

S8

Options:

1)
@)

2)

3)

(Gish)

4)
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Correct Answer:

(o)

(€

=

Candidat

(o)

(€

=

e Answer:

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

U SThidal # fCETY SHR hNTST i HIGH i TUT WielH
o dT¢ ag fohd IR SMTepfd ST fewars & 2

L

.
P “
td A
1
x

S

"
’
¥
' i
Cut
oy i| !
\ b
1+
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Options:

1)

o

¢
G-HH¢
¢

®
o)
q
q
@
0
=
>
3
@
=
®
q
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e Answer:;
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Question 24.1f a mirror is placed on the line MN, then
which of the answer figures is the right image of the given
figure?

g Teh g4 st MN T IR @1 5118 dt &Y 78 3R SMTepfadi & 9
-1 STepfa U= Smepfar Y Tt ufafae gift 2

2

Options:
1)

z//// /Z

2)

3)

G G s
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Correct Answer:

Candidate Answer:
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Question 25.In the question, a word is represented by only
one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, e.g.,
'C' can be represented by 04, 40, etc., and 'K' can be
represented by 56, 75, etc.

Similarly you have to identify the set for the word 'NICE'

Fferfea uy & faeedt & QY 77T S=ar-Tagg, 81erRt & &t am
g1 &21fQ 7Y &, e foh i< g T gt sregsl 7 81 sregg | &
T SR Uh A M0V 4 dah & TR 8, IR M I H 5T 9
dch, 39 TGl ¥ Teh &R h Ugel IGch! Ufth 3R a1 & T+
G gIRT SRIT ST YehdT 8 | 3&T8R0T o folU 'G' &t 04,40 gRT
ZATT ST GepdT & 9T 'K’ &t 56, 75 3M1fe ZRT <11 ST TehdT gl
g4l a8 ¥ 31Ukt faT 2reg NICE o foIg 95 <t ugar=-1 2|

O|m|m|a|o|k
=m (ol m|e|/s
T|=|r|2]| "]
rT|l2| x| =|®w
=|=R|E|~]|=22]w

3 7
H L
| H
- K . |
L N
N K

Blw| N~ O
O m|og|l=|n|o
Lo I B n|rn o
m( A |6 Om | w
W |~ |




Options:
1) 66, 58, 33, 02

2) 87, 65, 03, 24
3) 66, 23, 68, 30

4) 59, 68, 40, 02
Correct Answer: 66, 58, 33, 02
Candidate Answer: 66, 58, 33, 02

Question 26.Bilateral monopoly situation is

feguela uenfder AT T 2 2

Options:

1) when there are only two sellers of a product

STel Qeh %] o [th &l fachdr gid @

2) when there are only two buyers of a product

STel Qeh I & O & ugeh gid 8

3) when there is only one buyer and one seller of a
product

STel Ueh a%q o [Oth Teh UTgeh 3R Teh fdehdT gid &

4) when there are two buyers and two sellers of a product

ST Ueh I&] o &l UTgch 3R &l fachar gid 8

Correct Answer: when there is only one buyer and one
seller of a product

STd Ueh a&] o fAth Uk UTgeh MR Ueh fachdT gid &

Candidate Answer: when there are only two sellers of a
product

STd Qb g% & [t gt fachdr gid 8




Question 27.Lorenz curve shows

AR=oT dch I S AT & ?

Options:
1) Inflation

Hahifd

2) Unemployment

3) Income distribution

MY fId=oT

4) Poverty
Tt

Correct Answer: Income distribution

3 faaxoT
Candidate Answer: [ NOT ANSWERED |

Question 28.The Preventive Detention Act curtailed

fare Aty sifafagy (Mdfa f$Em Tae) g1 T Aepr S
Gehdl g ?

Options:

1) Right to Freedom
SATSIIET <hl §eh

2) Right to Equality
YHTT bl §h

3) Right to Property
Ul <1 g

4) Education Right
{8t <n1 g<h




Correct Answer: Right to Freedom
SATSITEY T §h

Candidate Answer: Right to Freedom

37TSTIG! &hl §h

Question 29.0rnithophily is effected by

AT thedl fohdch gRT g1 8 ?
Options:

1) snails

grer

2) bats

JHIGS

3) insects

chret

4) birds

gefl

Correct Answer: birds

geft

Candidate Answer: birds

geft

Question 30.To which ganarajya Gautam Buddha
belonged?

TdH g hIH-8 TURTST b & ?




Options:

1) Shibi

IREd

2) Shakya
ATHT

3) Saurasena

RaHAT

4) Shabara
AT

Correct Answer: Shakya
ATHT

Candidate Answer: Shakya
ATHT

Question 31.Which of the following is not an Igneous
Rock?

fFefefead & @ ol9-91 s AT el 8 ?
Options:

1) Dolomite

SleTiHTge

2) Granite

UE I

3) Basalt

dTee

4) Gabbro
sl

Correct Answer: Dolomite
SIAHTES

Candidate Answer: [ NOT ANSWERED |




Question 32.Which of the following vitamins help in the
absorption of calcium?

f=fafEa d 9 ol=-a1 faerfa S & sranyor § g @
2

Options:

1) Vitamin A
ICRIGGRY

2) Vitamin D
CRIGEES]

3) Vitamin B
CRIEEE]

4) Vitamin C
CRIGEE:]]

Correct Answer: Vitamin D

ERIGEES]

Candidate Answer: Vitamin C

[EEIGEK:]]

Question 33.The outermost layer of sun is called

g hl Gerd A18< URd bl RIThgd 8 ?



Options:

1) Lithosphere
WITHS

2) Chromosphere
qUIHS

3) Photosphere
TchIMH S

4) Corona

ehIRIAT

Correct Answer: Chromosphere

quiHsd
Candidate Answer: [ NOT ANSWERED |

Question 34.Constantly running system - program
processes are known as

fARaR Gfehd Req-TmT U8 E <l R’IT shgd & ?
Options:
1) Daemons

SHq

2) Processes

U

3) Process Block

T Seileh

4) Process Control Block
T chelel seileh

Correct Answer: Daemons

SHq

Candidate Answer: Processes

U




Question 35.Which of the following vitamins contain
nitrogen?

ffefea | @ fong faert@+ J argeis gidt 8 2
Options:

1) Vitamin A

ICRIGGRY

2) Vitamin B

faerfaa &t

3) Vitamin C

faerfae €t

4) Vitamin D

faerfaa S

Correct Answer: Vitamin B

[ERIEEE)

Candidate Answer: Vitamin A

ICRIGGRY

Question 36.Science dealing with study of soil is called

geT & He&fad Az o1 hgerrar g ?



Options:

1) Pedology
ger fagm=

2) Pedagogy
fRre e

3) Ecology
grRfEAfdht

4) Pomology

Correct Answer: Pedology
Har fagm

Candidate Answer: Pedology
HeT fag=

Question 37.With which sportis P.V. Sindhu associated?

gt. ot &g o1 A fohg W d S[eT 8 ?
Options:

1) Shooting

sffe (f?ranﬁmvrﬁ)

2) Boxing

Herchd TSl

3) Swimming

a=Teht

4) Badminton

Seffed

Correct Answer: Badminton
deffied

Candidate Answer: Badminton

SeffeT




Question 38.In hydel power station, the motion produced
in turbines is due to

STet fagld che | eXargH fhad Teidl & ?
Options:

1) flow of water

qr-l o dg- I

2) burning of coal

higel & STerA I

3) burning of diesel

SISTel &h STeld &

4) production of steam

¢U oh I 9

Correct Answer: flow of water

Ul eh 984 8

Candidate Answer: flow of water

Ol & 56+ |

Question 39.Which of the following gases is known as
"Laughing Gas"?

fArfeiad # @ epl-Ht 719 ol ‘g1 719" ehgd & ?



Options:
1) Nitrous oxide
13 T3S

2) Nitrogen peroxide

3) Nitrogen

4) Nitric oxide

15feeh 3MRI18S

Correct Answer: Nitrous oxide
13 1SS

Candidate Answer: Nitrous oxide
qdIscy JTHIss

Question 40.The 'solid waste'is also known as

"gifere A" Afafad & O iR fhg A9 I STFT SI1aT 8 2

Options:
1) Sedge
|

2) Toxic waste
IferIch 9%

3) Sludge

Lolo]

4) Scrubber
IchedlX

Correct Answer: Sludge
Lolo]

Candidate Answer: Sludge
Lol



Question 41.If waste materials contaminate the source of
drinking water, which of the following diseases will
spread?

3R haxT UIH o gt § et ST at shi=-gt St theltdt 2

Options:
1) Scurvy

2) Typhoid

IIShISS

3) Malaria

Hel AT

4) Anaemia

gHRT

Correct Answer: Typhoid
AERTES

Candidate Answer: Typhoid
AERTES

Question 42.Kalamkari painting refers to

heTHehT]] fISTehelT ahl Jawel fohad 82




Options:

1) A hand painted cotton textile in South-India

gieToT R B g%a-Rfd gt

2) A handmade drawing on bamboo handicrafts in North-
East India

ai<ik YRd H 19 oh g1 R g Hd Tehid

3) A block painted woollen cloth in Western Himalayan
region of India

HRd <h UiGHT fgATerdt &3 H sclich fiad Sl a&
4) A hand painted decorative silk cloth in North-Western
India

UigHR YR § g&afRPd Ieiradt H a8

Correct Answer: A hand painted cotton textile in South-
India

&feor YRd A g%a-RifAa gt ao

Candidate Answer: A handmade drawing on bamboo
handicrafts in North-East India

qai<ik Rd H J19 o g<diAed IR g THd SMTpid

Question 43.Which of the following areas make the
largest contribution to national income in India?

FfeRaa & 9 I 3ma & forg fohgan sifderds e § 2



Options:
1) Industry
e

2) Services

qar
3) Agriculture

4) Mining
LGB

Correct Answer: Services

e

Candidate Answer: Services

e

Question 44.Chachnama records the history of which
conquest?

IIETHT | hI-8l [T & sfdg™ w1 Rl § ?
Options:
1) Kushanas

YT
2) Hunas

gyl
3) Arabs

3d
4) Greeks

AT

Correct Answer: Arabs
3L

Candidate Answer: [ NOT ANSWERED |



Question 45.The deepest trench of the Indian Ocean is

fEc Ag™NR hl gad el @Ts i It g ?
Options:

1) Java trench

SICIECIE]

2) Aleutian trench

geifa @rg

3) Atacama trench

STCThHT TS

4) Tizard trench

BEUCEC]H

Correct Answer: Java trench
ST &S

Candidate Answer: Atacama trench
SATETRTHT W5

Question 46."Abhinav Bharat" was founded in 1904 as a
secret society of revolutionaries by :

1904 H shTf~ehIiRAT hl Tt HEAT & &Y H '3V WRd' i
T fehde ht ot 2




Options:

1) Damodar Chapekar
GTHIGR TTdehY

2) V. D. Savarkar
dY. . graRepx

3) Praffula Chaki
ool dTehl

4) Khudiram Bose
@ﬁmaﬁﬂ

Correct Answer: V. D. Savarkar
dl. S, graRepx

Candidate Answer: [ NOT ANSWERED |

Question 47.ldeas of welfare state are contained in

hedTUTehIR] oy Ga=¢ff foaR fohgd flgu o g 2

Options:
1) Fundamental Rights
7l ATYhR

2) Directive Principles of State Policy
IsaHIta Garedt e g

3) Preamble of the Constitution
AT chl I Ak

4) Part VI

T VI

Correct Answer: Directive Principles of State Policy

IST-ITd aeeft Aeeren g

Candidate Answer: Directive Principles of State Policy

ISa T Ga=eit e g




Question 48.Which of the following is called the 'Land of
the Golden Pagoda™?

"Ae AT & e Ter” fhd dhgd 8 ?
Options:

1) Myanmar

AR

2) China

EIE|

3) Japan

SITUTA

4) North Korea

I it

Correct Answer: Myanmar
MR

Candidate Answer: [ NOT ANSWERED |

Question 49.Which Indian author in May 2016 won the
prestigious 2016 Scholastic Asian Book Award for her
work ‘Codex : The Lost Treasure of the Indus' ?

fehe YR SRIehT ht #E 2016 H IAh! T&Ieh ‘hISe : & oI
doR At 389 o oIy Thifelleen T §[eh 3aTS I Adrail /T
T ?




Options:

1) Anita Desai

3ffaT Zard

2) Aditi Krishna Kumar
3fefd FTHAR

3) Rupa lyer

U7 YL

4) Preethi Nair
gifd AR

Correct Answer: Aditi Krishna Kumar
Jfefd poTRpAR
Candidate Answer: [ NOT ANSWERED |

Question 50.Pneumonia is a bacterial disease caused by
the type of bacteria called

i< T A Rar fAm=ar A9 &1 hRoT 8 2
Options:

1) Bacilli

dfafer

2) Cocci

chichTS

3) Sprilli

efer

4) Vibrio

faforat

Correct Answer: Cocci

Candidate Answer: Bacilli

dfafer




Question 51.A and B undertake a piece of work for Rs.
250 . A alone can do that work in 5 days and B alone can
do that work in 15 days . With the help of C, they finish the
work in 3 days . If every one gets paid in proportion to
work done by them, the amount C will get is

A 3T B Ueh &h1H ohf Rs. 250 H &< bl SR dd 81 A 39
1Y hl 3Tchal 5 fd & 3R B 39 &hH ot 3fchet 15 A & o
ehdT g1 d C hl Hee I hH i 3 i1 # g o oid g1 afe I
ohl AR ok IUTd | UTRHTHE AT gt af C bl foha=iT 0y
e ft 2

Options:

1) Rs.50

2) Rs.100
3) Rs.150

4) Rs.200
Correct Answer: Rs.50
Candidate Answer: Rs.50

Question 52.Dealer purchased an article for Rs. 900 and
fixes the list price in such a way that he gains 20% after
allowing 10% discount, then the list price is

T fashar & Rs. 900 H Ueh o ERIGT 3R el Jed 39 UhR
FafRa forar foh 10% B & & 18 I8 20% 1 1 81, af gt

qed R g ?




Options:
1) Rs.1180

2) Rs.1080
3) Rs.1200

4) Rs.1100
Correct Answer: Rs.1200
Candidate Answer: Rs.1200

Question 53.Cost price of 28 articles is equal to Sale price
of 21 articles, then percentage of profit is

gie 28 IE 3T hl NI Yo 21 G¥g3il oh forchl Ho oh sR1eR g, ot
oI Ufdrd fha T 8 ?

Options:

1) 12%

2) 33%2 %

3) 20%

4) 22%

Correct Answer: 337 %
Candidate Answer: 33"z %

Question 54.In the last financial year, a car company sold
41,800 cars . In this year, the target is to sell 51,300 cars .
By what percent must the sale be increased ?

U<t facd ad & Tah &R syt 2 41,800 R =011 39 a9
51,300 IR sa= &t 8T g | faeht @l fohaw ufasrd semT g ?




Options:
1)

72

2)

g8—u
22‘!0

3)

8119f
23"

4)

8
ki

22—
11

Correct Answer:

228,
11

Candidate Answer:

2229
11

Question 55.If the speed of a boat in still water is 20
km/hr and the speed of the current is 5 km/hr, then the
time taken by the boat to travel 100 km with the current is

gfe fR SaT & Aiept Y 7fa 20 for HY./guer @ SR yRT h 1A 5
fop. Y. /guar g at gy <hl 71t & 91 100 fohet kY Im a3 e |
YenT chl fehd=T THT ST ?




Options:

1) 2 hrs

2 ©¢

2) 3 hrs

ehord

3) 4 hrs

4 €¢

4) 7 hrs

VA

Correct Answer: 4 hrs
4 ¢

Candidate Answer: 4 hrs

4 €¢

Question 56.1f a sum of money doubles itself in 8 yrs, then
the interest rate in percentage is ?

chls Y=RII 8 I H T AT 8l Scl 8, al 1ol & (Ul H )
fRa & 2

Options:

1) 8 2%

2) 10%

3) 10% %

4) 12 %%
Correct Answer: 12 %2 %
Candidate Answer: 12 2 %



Question 57.1f (x - 5)2 + (y-2)2 + (z-9)2= 0, then value of
(x+y-2z)is

g (x-5)%+ (y-2)2+ (z-9)2=0, @ (X +y-2z) HIAF TS ?
Options:
1) 16

2) -1
3) -2
4) 12

Correct Answer: -2
Candidate Answer: -2

Question 58.

Ifx + % = 3 then x3+t—lsis equal to

afe x + 1= 3atats Libaar 8 2
Options:
1) 2201

2) 2203
3) 2207

4) 2213
Correct Answer: 2207/
Candidate Answer: 2207



Question 59.Points P, Q and R are on a circle such that
£ZPQR =40°and £QRP =60°. Then the subtended angle
by arc QR at the centre is

fe=g PQ 3R R Ueh Jed IR 3T UhR & foh L PQR = 40° 3R
£ QRP = 60° dl & # 919 QR gRT 3idRd hlvT fehd-T 8 2

Options:
1) 80°

2) 120°
3) 140°
4) 160°

Correct Answer: 160°
Candidate Answer: 160°

Question 60.

2
The ratio of the angles of a triangle is 1:5:3. Then the smallest angle is:

—~ - 2 o 5
e P3RSt haRT9T o ST 1: 3 = 3 Bl eleci 1o et 2



Options:
1)

2=
7

2) 25°

3)

5I:|
25 —
%

4)

4°
38 —

Fi
Correct Answer:
25 S
Candidate Answer:

5:1
25 7

Question 61.1f a+ B =90° and a:B = 2:1, then the ratio of
cosato cosPBis

gic a+ B = 90° 3R a: =2:1,d cosa T cosP <kl HAUTd HIT &
2

Options:
1) 1:v3

2) 1:3
3) 1.v2
4)1:2

Correct Answer: 1:v3
Candidate Answer: 1:v3



Question 62.The least number to be added to 13851 to
get a number which is divisible by 87 is

13851 #® dg hiIF-8I AdH H&&AT STiel S fop Ut dwe urd gt
Sl 87 § I g fawrsa gi ?

Options:
1) 18

2) 43
3) 54

4) 69
Correct Answer: 69
Candidate Answer: 69

Question 63.Two numbers are in the ratio 3:5. If 6 is
added to both of them, the ratio becomes 2:3. The
numbers are

2 G&ATY 3:5 b UTd | g1 Ifc I &I H 6 Sirg feam Sig ot
SUTd 2:3 8l ST 81 d &4 - g ?

Options:

1) 21 and 35

21 3R 35

2) 30 and 50
30 3R 50

3) 24 and 40
24 3R 40

4) 18 and 30
18 31 30



Correct Answer: 18 and 30

18 31k 30

Candidate Answer: 18 and 30
18 37k 30

Question 64.The average weight of 10 parcelsis 1.7 kg.
Addition of another new parcel reduces the average
weight by 60 gram. What is the weight, in kg, of the new
parcel?

10 UTHl ohT 3T st 1.7 foh.U1. &1 Teh a7 Uil el R
3 a1 60 T ¥ 8 STTdT & | 7T YTl ohl doi- fchaT foh. .
g7

Options:

1) 1.04

2) 1.08
3)1.4

4)1.8
Correct Answer: 1.04
Candidate Answer: [ NOT ANSWERED |

Question 65.

Ifx =999, y = 1000, z = 1001, then the value of 02122 _34VZ;

x—ytz

343 +23 - 3xy.
T1G % =999, y =1000, 7=1001, T == I A T § ?




Options:
1) 1000

2) 9000
3) 1

4)9
Correct Answer: 9
Candidate Answer: 9

Question 66.

a b [ i
oty s —_— == i ity —ig?
1% 1-2a + 1-2b + 1-2¢ Z’ThER et 1-2a + 1-2b + l—ZCw'

E‘Jﬁ a B, c _1 1 1 1 =T =0T
1—2a+ 1-2b ' 1-2¢ B’Fn-l—Za—i— l—ZEzl—I—l—ZcH %l?

Options:
1) 1

2) 2
3) 3
4) 4

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED |



Question 67.In an isosceles triangle AABC, AB = AC and
£ A =80°. The bisector of £B and £ZC meet at D. The
£ BDC is equal to

Tk qafgag st AABC &, AB = AC 3R £A = 80° 9T 4B
3R £ C eh fgrsier D R Aed 81 £BDC fohdch sRIeR & ?
Options:

1)90°

2) 100 ©
3) 130°

4)80°
Correct Answer:; 130°
Candidate Answer: 130°

Question 68.The length of a chord which is at a distance
of 12 cm from the centre of a circle of radius 13 cm is

13 ). Y Aot et ged o g @ 12 A7, A o w Shar
AaTS foha & 2




Options:
1) 10 cm
10 9.4,

2) 5cm
5 9.4l

3)6cm
6 4.4,

4) 12 cm
12 Q.4

Correct Answer: 10 cm

10 9.4t

Candidate Answer: 10 cm

10 9.4

Question 69.If © is positive acute angle and 7cos26 + 3
sin@ = 4, then the value of B'is

gfe © Y-TcHe <A 10T § 3R 7c0s20 + 3 sin20 = 4, q 6 &1
qH R 8 ?

Options:

1) 60°©°

2) 30°
3) 450

4)90°
Correct Answer: 60 °
Candidate Answer: 60 °



Question 70.Radius of cross section of a solid right
circular cylindrical rod is 3.2 dm. The rod is melted and 44
equal solid cubes of side 8 cm are formed. The length of
the rod is (Take N = 22/7)

Teh % Jed g SeT-ITehR B h U I hi (39aT1 3.2 dm. 8|

&S i TTATeh 8 Y. a1t IRTER-ARTER oh 44 3 9 §-14 ST

&1 ©e hl s fora-t & ?

(\AET N =22/7)

Options:
1) 56 cm
56 4. 4.
2) 7 cm

7 9.4,
3)5.6cm
5.6 9.HI.

4) 0.7 cm
0.7 9.4,

Correct Answer: 7/ cm

7 S|,

Candidate Answer: 7 cm

7 4.1,



Question 71.The angles of elevation of the top of a tower
from two points at a distance of 4 m and 9 m from the
base of the tower and in the same straight line with it are
complementary. The height of the tower is

Qeh TeR <h el & 4 Hi. 3R 9 Hi. chl g IR Yeh Hieht 3@ R &t
fergar ¥ 2far o 2ftd & I8+ 0T Ok 81 TTaR bl $ars fohai
g7

Options:

1) 4m

Correct Answer: 6 m

6 Hl.

Candidate Answer: 6 m

6 Hi.



Question 72.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

hefT IX o 50 BT o 3ich [adRuT o fXdium ot 3reud+ hifsig
MR A=fafEd ueAf & IR &fe |

::::::

The number of students who have secured marks less
than 60 is

60 T A 3ich UTT he alct BT chl G&AT fchd=l & ?

Options:
1) 12

2) 15
3) 33
4)7

Correct Answer: 33
Candidate Answer: 15



Question 73.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

hefT IX o 50 BT o 3ich [ad=uT o fXd iU ot 3reud hifsig
MR A=fafEd ueAf & IR e |

::::::

The average marks of the students are

B o 3Nd 3ich feha- @ 2
Options:
1) 53.2

2) 45.5
3) 60.2

4) 55.5
Correct Answer: 53.2
Candidate Answer: 53.2



Question 74.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

hefT IX o 50 BT o 3ich [adRuT o fXdium ot 3reud+ hifsig
MR A=fafEd ueAf & IR &fe |

::::::

The number of students who have scored between 39 and
80 is

39 31k 80 o S 3ich UT i dTd BT chl AT fehdHt g ?

Options:
1) 22

2)18
3) 37
4)15

Correct Answer: 22
Candidate Answer: 18



Question 75.Study the histogram of marks (in
Mathematics) distribution of 50 students of class IX and
answer the following questions.

hefT IX o 50 BT o 3ich [adRuT o fXdium ot 3reud+ hifsig
MR A=fafEd ueAf & IR &fe |

::::::

Percentage of students who have secured marks more
than 59 is

59 T 31feIeh 3fch UTW che dTet BT ehl UTdRId fehd=IT & ?

Options:
1) 13

2) 17
3) 34
4) 26

Correct Answer: 34
Candidate Answer: [ NOT ANSWERED |



Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

EMANCIPATE

Options:

1) LIFT

2) RISE

3) RAISE

4) LIBERATE

Correct Answer: LIBERATE
Candidate Answer: LIBERATE

Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

TREACHERY

Options:

1) BETRAYAL

2) MULING

3) LOYALTY

4) REBELLION

Correct Answer: LOYALTY

Candidate Answer: LOYALTY

Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.



Options:

1) Ajournment

2) Adjournmant

3) Ajornment

4) Adjournment

Correct Answer: Adjournment

Candidate Answer: Adjournment

Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the “No error”
option.

Some of the richest (A) / business magnate (B) / live in
Mumbai. (C) / No Error (D)

Options:

1) A

2)B

3)C

4) D

Correct Answer: B

Candidate Answer: A



Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the “No error”
option.

This is an urgent (A) / matter which may admit (B) / of
few delays. (C) / No error (D)

Options:

1) A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the “No error”
option.

Outside, the rain beats down (A) / in floods and the sea
gives forth (B) / a sound like an alarm bells. (C) / No error
(D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: C



Candidate Answer: C

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

| hope you know that, once you have signed the contract,
you will notbe ableto _______

Options:

1) back in

2) back out

3) back up

4) back at

Correct Answer: back out

Candidate Answer: back out

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Your opening paragraph should the reader's
attention.

Options:

1) attest

2) address

3) attract

4) affect



Correct Answer: attract
Candidate Answer: attract

Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

When | visited him last evening we talked the matter

Options:

1) through

2) away

3) off

4) over

Correct Answer: over

Candidate Answer: through

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

A Man of letters
Options:

1) Letter - writer
2) Proof - reader
3) Postman

4) Scholar

Correct Answer: Scholar



Candidate Answer: Scholar

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Under a cloud
Options:

1) Shocked

2) Sad

3) Sick

4) Confused

Correct Answer: Sad

Candidate Answer: Confused

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Bear in mind
Options:

1) Respect

2) Observe

3) Remember

4) Pretend to listen

Correct Answer: Remember
Candidate Answer: Remember



Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Chief of a group of workmen.
Options:

1) Chieftain

2) Engineer

3) Foreman

4) Middleman

Correct Answer: Foreman
Candidate Answer: Foreman

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Bitter quarrel between two families existing for a long
period.

Options:

1) Siege

2) Feud

3) Battle

4) War

Correct Answer: Feud

Candidate Answer: Feud



Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Animals without a backbone.
Options:

1) Marsupials

2) Mammals

3) Vertebrate

4) Invertebrates

Correct Answer: Invertebrates
Candidate Answer: Invertebrates

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

Can you be able to please tone down your excitement?
Options:

1) Can you please be able to tone down your excitement?
2) Are you able to please tone down your excitement?

3) Can you please tone down your excitement?

4) No improvement

Correct Answer: Can you please tone down your
excitement?

Candidate Answer: Can you please tone down your
excitement?




Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

Uneasy lies the head which wears the crown
Options:

1) who

2) that

3) what

4) No improvement

Correct Answer: that

Candidate Answer: who

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

The cities are bursting on the seams with people.
Options:

1) bursting on seams

2) bursting at seams

3) bursting at the seams

4) No improvement

Correct Answer: bursting at the seams
Candidate Answer: [ NOT ANSWERED |



Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

Let his failure be a lesson to you all.
Options:

1) to all of you

2) to all you people

3) to all you

4) No improvement

Correct Answer: to all of you

Candidate Answer: to all of you

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to “No improvement”.

A foolish person is some one who is easily taken-in and
tricked by others.

Options:

1) sober

2) stupid

3) gullible

4) No improvement



Correct Answer: gullible
Candidate Answer: gullible

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition



may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

The theme of the passage is
Options:

1) Changing Lives

2) Looming Energy Crisis

3) Energy Resources

4) Power in Today's world

Correct Answer: Looming Energy Crisis
Candidate Answer: Looming Energy Crisis

Question 97.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.



Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis‘and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

Biomass is an energy source used in
Options:

1) agriculture

2) industry

3) homes

4) offices

Correct Answer: homes

Candidate Answer: homes



Question 98.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil-but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.



The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens’ does not become extinct.

The synonym for Ubiquitous is
Options:

1) Omnipotent

2) Omnifarious

3) Omniscient

4) Omnipresent

Correct Answer: Omnipresent
Candidate Answer: Omnipresent

Question 99.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500



people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. Oil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in-tandem to ensure that the species
'homo sapiens’ does not become extinct.

The energy sources of the future are
Options:

1) nuclear and hydro power

2) coal and natural gas

3) wind and solar power

4) oil and biomass

Correct Answer: wind and solar power
Candidate Answer: wind and solar power

Question 100.A passage is given with 5 questions



following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world's energy is supplied by oil, coal
and natural gas while nuclear, hydro, wind and solar
power and biomass supply the rest. Coal, nuclear and
hydro are used primarily to generate electricity while
natural gas is widely used for heating. Biomass is used
both for heating and cooking. The wind and solar power is
the future's hope as they are sustainable energy sources.
Oil powers almost all machines that move and that makes
oil uniquely versatile. Oil powered airplanes carry 500
people across the widest oceans at nearly the speed of
sound. Oil powered machines produce and transport
food. Oil powered machines are ubiquitous. Clearly, we
live in the age of oil but it is drawing to a close. According
to data available if oil production remains constant until
it's gone, there is enough to last 42 years. QOil wells will
produce less as they become depleted, which will make it
impossible to keep production constant. Similarly natural
gas and coal will last another 61 years and 133 years
respectively. Naturally, as they become scarce, they
become expensive, leading to a worldwide energy crisis. If
we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition
may be willy-nilly or planned - the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more



difficult if it is not anticipated. It is of utmost importance
that the public and policymakers understand the global
energy crisis and act in tandem to ensure that the species
'homo sapiens' does not become extinct.

The survival of mankind will depend on

Options:

1) maximum use of available energy resources

2) transition to sustainable energy resources

3) regulation placed on energy consumers

4) keeping the level of energy production constant
Correct Answer: transition to sustainable energy
resources

Candidate Answer: transition to sustainable energy
resources



